M3IA d3d0O1dX3 ¥04 1LNOA104

~ 24P THOMPSON VACUUM-PRESSURE UNITS ~

\_

THOMPSON MODEL “VC” VACUUM-PRESSURE PUMP

GENERAL DESCRIPTION

The Thompson Model VC-454-RM4-HS and VC-565-M4R-HS pump are air-cooled,
positive displacement, reciprocating vacuum-pressure pumps designed to operate at
continuous high vacuum and pressure without overheating.

The Thompson Model "VC" Vacuum-Pressure Pump incorporates a Chevrolet engine
short block, converted to accept our specially engineered head, valves and acces-
sories. The efficient lubrication system, standard with the engine block, gives excellent
protection against corrosion and overheating. This also provides a lower end consider-
ably more durable than other piston-type V.P pumps.

The pumps' size and shape is such that it will readily mount on the side of a truck
chassis or on a platform in front of or underneath a semi-trailer.

Over 60 years of leadership in the e Built-in reliability.

vacuum-pressure pump field. Multiple methods of mounting.
Engineered for durability.

More efficient with less H.P.
Continuous duty.
Custom Rings - Oil wiping

Rebuilding by any mechanic. o
High Speed Valves
4 Ring Pistons

PLEASE TURN TO BACK PAGE

THOMPSON TANK, INC.
P.O. BOX 790, LAKEWOOD, CA 90714-0790 + PHONE: (562) 869-7711 « FAX: (562) 869-7214

QP THOMPSON VACUUN-PRESSURE UNITS ~

Disassembly of Thompson VC Pump Head
1. Remove 4-VC Head Bolts and Head Assembly Front Block

2. Loosen 5-VC Valve Cover Plate evenly and carefully, One Half to One Revolution at a time,
due to the high tension of the 14-C-CSD hold down springs.

3. Remove the 14-C-CSD hold down springs, the 5-C-HSS suction and 6-C-HSD Discharge Valves
and the 15-C-CSD Copper Valve Seat Gaskets.

NOTE: The position or placement of the Suction and Discharge Valves for reassembly
4. Inspect interior of pump for foreign material and damage such as scored cylinder walls.

5. Inspect each valve for foreign material and damage. Check condition of Valve Springs and
7-C-MHT Valve Disc.

6. Warning: Do not clamp 10-C-HSS Suction Valve cap or 12-C-HSD Discharge Valve Body in a vise.
Make a temporary Jig for disassembly and assembly by placing two 1/4 bolts in a vise, threads up
with 3/8" exposed on 1 3/8" centers.

Assembly of Thompson VC Pump Head

7. Assemble 5-C-HSS Suction Valves - Place four (4) 8-C-8HT Suction Valve Springs on a 10-C-HSS

slots. Place the 7-C-MHT disc over the8-C-8HT Suction Valve Springs, holding the assembly in place,

insert into 9-C-HSS Suction Valve Body, insert the 11-C-GRB Bolt through the 11-CA Star Lock
Washer and 11-C-CSD Spacer and tighten to 45 Ft. Lbs. or torque

Discharge Valve Cap on top of each other and follow the same procedure specified above, using the
12-C-HSD Discharge Valve Body.

and must be used only on the valve it was designed for. Do not interchange, performance will
be severely effected.

Place the 14-C-CSD hold down springs over the Valve Assembly.
NOTE: The 14-C-CSD hold down springs is not sold as part of the Valve Assemblies

Replace 5-C-HSS Suction and 6-C-HSD Discharge Valves back into their respective parts.

9. Assembly VC Head Assembly - Place 20-VC Head Cover Plate with 21-VC Gasket onto
14-C-CSD hold down springs.

A. Prior to assembly use a good quality anti-seize on Bolt Threads and Sealer on Gaskets.

B. Insert 5-VC Cover Plate Bolts and tighten evenly one half to one revolution at a time.
Tighten to 55 Ft. Lbs. torque

C. Insert 4-VC-Head Bolts and tighten evenly to 55 Ft. Lbs. Torque

Replacement Parts

1. Lower end - Chevrolet Cylinder or Short Block and most of the components are obtainable at
your local dealer.

Custom components manufactured by Thompson Tank Inc. are:

A. Custom Four (4) Ring Pistons D. Custom 7 Qt. Oil Pan
B. Custom Piston Rings - Oil Wiping E. Custom Oil Pick Up Screen
C. 60 VC Oil Pump Drive F. Custom Dip Stick Assembly

and the Thompson VC Vacuum Pressure Pump Head assemblies.

THOMPSON TANK, INC.
P.O. BOX 790, LAKEWOOD, CA 90714-0790 + PHONE: (562) 869-7711 * FAX: (562) 869-7214

Suction Valve Cap on top of each other with the Spring Guides alternately inserted into the recessed

8. Assemble 6-C-HSD Discharge Valves - place four (4) 8-C-9HT Discharge Valve Springs on a 13-C-HSD

NOTE: The 8-C-8HT Suction Valve Springs and the 8-C-9HT Discharge Valve Springs are not identical

J




41-JVC SPLIT TUBE 4 PLACES 60-VC OIL PUMP DRIVE ASSY.

UNDER P-13C IN ALL FOUR 62-VC OIL PUMP 11-C-GR8 BOLT W/ 5-C-HSS SUCTION VALVE
CORNERS TO BLOCK OIL \ BUSHING | LOCK WASHER 9-C-HSS SUCTION VALVE
65-VC N F/ 63-VC SPRING PIN 14-C-CSD HOLD-DOWN ‘\\ 7-C-MHT VALVE DISC
SHAET - SPRING (NOT PART OF |

8-C 8HT VALVE SPRINGS

A " 5-C-HSS VALVE ASSY.)
T 1/2" DRAIN HOLE
44-VC BLOCK

_  (3)36-VC LONG VALLEY ORIFICE
PLUG KIT / COVER PLATE 3-3/8" LONG
P13C- 13/16" DIA. CUP

(1) 37-VC SHORT ALLEY
EXPANSION PLUG-16 REQ'D.

(4 PCS.)
</\ 10-C-HSS SUCTION VALVE

35-VC T.G.C.

ORIFICE COVER GASKET

34-VC CONVERTED
PLATE 3-1/4" LONG

TIMING GEAR COVER

5-VC VALVE COVER PLATE
BOLT 1/2" x 2" N.C. HEX HD.

454 CU. IN CHEVROLET
OR 565 CU. IN CHEVROLET
V-8 BLOCK

COLD WELD 2 PART BONDING 7
COMPOUND TO 18-VC AND PRESS

INTO PLACE
18-VC-M 1/2" 3000#

27-VC 7/ 16" x 3/8" SOCKET HEAD ~__ __ CPLG. W/MUFFLER
SET SCREWS TEN (10) PLCS. VENT
(5 REQ'D PER CYLINDER TANK) 18-VC OIL FILL TUBE

ASSY. VENTED
6-C-HSD DISCHARGE VALV
13-C-HSD DISCHARGE

| / VALVE CAP

8-C-8HT DISCHARGE VALVE
SPRINGS (4 PCS.)

&gg 1/2" LOCK WASHER
(@ 1/2" FLAT WASHER

K4-VC HEAD BOLT
7/16" x 6" N.C. HEX HD.
- @\\

7/16" LOCK WASHER
7/16" FLAT WASHER
20-VC VALVE COVER PLATE
1130-A FLANGE GASKET, 2-1/2"

1130 STEEL FLANGE, 2-1/2"
’ 21-VC VALVE COVER PLATE GASKET

3-VC PUMP HEAD
8-VC 1/8" NPT — -

11-C-GR8 BOLT W/
LOCK WASHER
INTERNAL TOOTH _

7-C-MHT VALVE DISC

12-C-HSD DISCHARGE
VALVE BODY

11-VC 3/8" NPT TO
1/8" NPT BUSHING

. NI 38-VC PUMP SOCKET HEAD
14-C-CSD HOLD-DOWN 15-C-CSD GASKET ll HEAD GASKET PIPE PLUG
SPRING (NOT PART OF 7/16" LOCK NS
6-C-HSD VALVE ASSY.) WASHER. EXT.

TOOTH 99-VC-M DIP STICK ASSY

E

§8A_l\5/ CH EQ 68"(;(&' 2.VC-4" OIL LEVEL
SIGHT GAUGE
24-VG FUEL PUMP ORIFICE COVER PLATE
25-VC FUEL PUMP ORIFIGE COVER PLATE GASKET
22-VC 3/8" x 1" N.C. HEX HD BOLT

KET HEAC THOMPSON MODEL VC VACUUM-PRESSURE PUMP

USE ANTI-SIEZE
ON ALL BOLTS




